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The figures in the margin indicate
Jull marks for the questions.

* Answer Q. nos. 1 & 2 and any five

Sfrom the rest.

1. Choose the correct options in the blanks :

(a)

)

1x10=10

Preparation is the of crime.
(stage/ elements})

Wrongful gam has been defined under
section of the IPC. (22/23)

Nothing is an offence which is done by
a ch/i;Id under years of age.
i (six/ seven)

H
Accident in doing a lawful act is
excused under section of the
IPC. (80/81)
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2.

(e).. To constitute the’ offence of affray
there must be at least persons.
(two/ three)

1] Sedltlon is an offence against _
:  (public tranqutllty/ state)

(g The causing of the death. of child in
the mother’'s womb homicide.
(is/is not)

(hy~ Sexual intercourse by a man with
the consent of the woman under
years of age is treated as

Rape. , (16/18)

() The subject matter of ‘theft’ must be
property. (movable/ immovable)

) Dacmty has been defined m section
. (390/391)

Write the following : 2x5=10

(a} White Collar Crime

(b) Doli incapox

(c) A Tay

(d) " Cruelty to married woman

(e} Robbery.
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‘Define Crime. What are the different

elements of criminal liability ?
4+8=12

Or

What do you mean by Common Intention ?
Distinguish between Ceinmon Intention and
Common Object with the help of decided
case laws. 4+8=12

Discuss in detail about the Right to Private
Defence under IPC. When the right of private
defence of property extends to causing death
of a person to protect property ? ,

' 8+4=12

Or

What do you mean by Abetment ? Explain
the law relating to abetment under IPC.

4+8=12
Write notes on : 4x3=12
(@) Sedition
(b). Unlawful assembly
(c) Rioting.
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Or
Enumerate the. provisions of Indian Penal
Code with regard to ‘waging of war against
the Government’ and sedition with the aid
of case laws. ‘ 6+6=12

6. What is Hurt ? Explain the circumstances
under wmch hurt becomes grievous hurt.
*4+8=12

Or

Write notes on the foliowing :

| 4x3=12
(a) Kidnapping

(b) Wrongful confinement

(¢) Dowry. dea’fh.

7. What is criminal misappropriation of
property 7 How does it differ from criminal
breach of trust ? 4+8=12

/,/ or

Define ’lheft 'Discuss the ingredients of the
offence of extortion. 6+6=12
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